1102 F< & 2RABpEFF R E ==> RT

#1: 3 BEAZ(93.63) #2: 6 = 4E4(82.21) #3: 10 F21E(80.5)

1 INS: S8 BEEISC(BEO) 15 6 NS: #5145 ERELE5(BAC) 16 VP:| 10.00 : 10.00| Total VP: 62.89 Rank:
EW: 2308 SIBFEEAC) -16 EW: fA5RE) FiEZR(FO) -1 IMP:| 28 28 7
I
# 1 # 852 3NW3 -400 Mean: 6CW-2 100 9.0 1 [[# 2 » KQ53 3HS-1-100 Mean: 4SXW-2 300 110 1
v KJ93 6CW-2 100 -280 6CE-2 100 9.0 1 v 52 3HS-2-200 -240  3HS-1 100 4.0 1
¢ QT842 Dif: -500 NS:-3 4CE4 130 40 1 ¢ T62 Dif: 100 NS:4 3HS-2 200 1.0 5
&7 IMP: -11 EW:-9 A 00 2 » 7642 IMP: 3 EW:-1 A 00 2
s AT s 94 3NW3 400 3.0 4 ||a 84 #» AJ9762 4HS-3 300 20 1
v A75 v Q84 3NE3 400 3.0 2 [|e AQJ | w7 3HXS-2  -500 -6.0 1
* J96 ¢ AK3 4SXS-3 500 6.0 1 ||e J94 ¢ Q853 4HXS-3  -800 -11.0 1
& KQ854 & AJT96 & KQJT8 & 53
%o VAN 4, KQJ763 B OVAN AT
N ~~~~~ v T62 N ~~ 1~ ~ o KT98643
S ~~~~~ ¢ 75 S ~~1~~ ¢ AK7
E 4~~~3 832 E 33~33 aA9
4 ~~~3 W 33~33
# 3 aJT2 3CS-2-100 Mean: 2SE-1 100 50 1 |[|# 4 # 65 5SE-1 100 Mean: 5SE-1 100 110 1
v KT43 2SE-1100 -90  2NW-1 100 50 1 v 976 4SE4 -620 -400  4SW-1 100 110 1
¢ T93 Dif: 200 NS:0 1DW-1 100 50 1 * T7 Dif: 720 NS:11  4SE-1 100 110 1
& 543 IMP: -5 EW:-5 1DWA1 70 1.0 1 » AQT653 IMP: 12 EW:6 A 00 2
s Q5 » A9864 A 00 2 ||aAJT2 # K983 5DW5 600 -50 1
v AJ75 v Q62 3CS-2 100 00 1 ||eK + v J53 4SE5 650 -6.0 2
¢ AJ854 ¢ 62 2DW2 9 00 1 (]|eKQJ5 ¢ A9432 4SE4 620 -6.0 4
AT & 876 1DW2 -90 00 1 ||& KJ97 a8
B¢V AN 4,K73 2SE2 410 1.0 1 FeVAN o, Q74
N 1~~~~ 998 2SW3 140 20 1[N ~~~~~ v AQT842
S 1~~~~ ¢KQ7 2SXE2 670 110 1[|S ~~~~~ ¢ 86
E ~2221 &KQJ92 E ~5~5~ a42
~2221 W ~5~5~
#5 » AK 1NN1 90 Mean: 2DN2 90 30 1(|#6 » Q542 7CE7 -2140 Mean: 6HW7 1460 7.0 4
¢T3 2SW-150 -10  1NN1 90 30 2 v T76 6HW7 -1460 -1730 6NE7 1470 6.0 2
+ KQ8753 Dif: 40 NS:3 2SwW-1 50 20 2 ¢ JTE4 Dif: -680 NS:-9 A 00 2
& QT2 IMP: 1 EW:-2 A 00 2 a T4 IMP: -12 EW:-7 7SXS-8  -2000 -7.0 1
a T765 a QM4 2SW2 410 3.0 2 (|a7 & AK 7CE7 2140 9.0 1
v AQ2 v 8765 2DN-1 100 -3.0 2 ||e AKJ93 —_— v Q54 THW7 2210 100 1
¢ AT6 ¢ J9 1NN-1 100 3.0 1 |]|e K8 + AQ532 THE7 2210 100 1
& 876 & AK53 & KJ853 & A76
o ¢ VAN 49832 ¢ VAN 4 JT9863
N ~1~~~ ¢KJM N ~~~~~ v 82
S ~1~~~ 42 S ~~~~~ * 97
E 2~121 &J9% E 767~7 &Q92
2~121 W 767~7
#7 a T643 3NW5 -660 Mean: 4HW4 620 10 1 |[|# 8 & 975 3DE3 -110 Mean: 3NE-2 100 40 1
v Q98 3NW5 -660 -640 3NW3 600 1.0 1 v K976 3DE3 -110 -40  1NW-2 100 40 1
¢ Q9532 Dif: 0 NS:-1 A 00 2 * 97 Dif: 0 NS:-2 1NN1 90 40 1
&K IMP: 0 EW:1 3NW4 630 00 3 » KQJ5 IMP: 0 EW:2 A 00 2
» AQ8 s KJ72 3NW5 660 1.0 4 ||s AT64 # 82 2881 50 00 1
v J2 + v AT654 W6 600 20 1 ||e AQU42 v5 THW1 80 0 1
¢ KJT ¢ A *QJ ¢ KT8532 3DE3 110 220 2
& JT976 S & A42 & A2 & T984 2DE3 110 2.0 1
FOVAN 4,95 * eV AN 4, KQ3 1HW2 410 20 1
N ~~~~ ~ v K73 N ~~1~1 ¢T83 3SS-3 150  -3.0 1
S ~~~~~ + 8764 S ~~1~1 ¢ A64
E 5~455 Q853 E ~4~~~ a763
5~455 W ~4~~~
#9 s Q4 4SXE-1 200 Mean: 4SXE-1 200 80 1 ||# 10 a7 3SE-2 200 Mean: 4SE-2 200 40 3
v KQJ754 3SW4 -170 -140  4SW-1 100 6.0 2 v JT53 3SE-1100 50  3SE-2 200 40 1
¢ KT4 Dif: 370 NS:8  3HN-1 50 3.0 1 + AJ532 Dif: 100 NS:4 3SE-1 100 20 1
& A9 IMP: 9 EW:1  5HXN-1 100 1.0 1 & JT9 IMP: 3 EW:-2 2HN2 110 20 1
& J8732 & KT96 A 00 2 ||a AT3 # K9652 A 00 2
v A963 v38 2SW3 140 00 1 ||e Q7 + M v4 3HS-1 100 40 1
+6 + AJ93 3SW4 470 1.0 1 [|e Q98 + K64 1SE1 80 40 1
a J53 » KQ82 2sw4 470 1.0 1 ||& A7652 » KQ4 2SE3 140 5.0 1
POV ABN LA 4SW4 620 -100 2 d VAN 4, Q4 1SE3 -140 5.0 1
N ~11~~ @T2 N ~13~~ « AK986
S ~11~~ 4Q8752 S ~13~~ ¢T7
E 2~~4~ &T764 E 3~~21 83
2~~4-~ W 3~~21




Ll q >3z s\ 4 —_
7 1102 F<Z 2RABERE>BF e == RT 7
L T
AYA
#1: 3 BFAR(93.63) #2: 6 K 4-45(82.21) #3: 10 ZZfR(Q0.5)
2 NS: 2268 PR T-FEEH0) -44 1 0 NS: ZR{%{E BRERT(BAC) -19 VP:| 3.22 16.78 | Total VP: 73.40 Rank:
EW: BEAEE S HEHAC) 19 EW: 215155 EAtH4(FH0O) 44 IMP:| 19 43 6
_
#1 & 852 4SXS-3 -500 Mean: 6CW-2 100 9.0 1 [[# 2 » KQ53 3HS-2-200 Mean: 4SXW-2 300 11.0 1
v KJ93 3NE3 -400 -280 6CE-2 100 9.0 1 v 52 4HXS-3 -800 -240  3HS-1 100 40 1
¢ QT842 Dif: -100 NS:-6 4CE4 130 40 1 ¢ T62 Dif: 600 NS:1  3HS-2 200 1.0 5
a7 IMP: -3 EW:3 A 00 2 a 7642 IMP: 12 EW:11 A 00 2
s AT s 94 3NW3 400 3.0 4 ||a 84 #» AJ9762 4HS-3 300 20 1
v A75 v Q84 3NE3 400 3.0 2 [|e AQJ | w7 3HXS-2  -500 -6.0 1
* J96 ¢ AK3 4SXS-3  -500 -6.0 1 [|e J94 ¢ Q853 4HXS-3  -800 -11.0 1
& KQ854 & AJT96 & KQJT8 & 53
%o VAN 4, KQJ763 B OVAN AT
N ~~~~~ v T62 N ~~ 1~ ~ o KT98643
S ~~~~~ ¢ 75 S ~~1~~ ¢ AK7
E 4~~~3 832 E 33~33 aA9
4 ~~~3 W 33~33
# 3 aJT2 2SXE2 -670 Mean: 2SE-1 100 50 1 |[|# 4 » 65 4SE5 -650 Mean: 5SE-1 100 110 1
v KT43 2SE2 -110 -90  2NW-1 100 50 1 v 976 4SE4 -620 -400  4SW-1 100 110 1
¢ T93 Dif: -560 NS:-11 1DW-1 100 50 1 *T7 Dif: -30 NS:-6 4SE-1 100 110 1
& 543 IMP: -11 EW:1  1DW1 70 10 1 & AQT653 IMP: -1 EW:6 A 00 2
s Q5 # A9864 A 00 2 ||aAJT2 # K983 5DW5 600 -5.0 1
v AJ75 v Q62 3Cs-2 100 00 1 ||eK + v J53 4SE5 650 -6.0 2
+ AJ854 ¢ 62 2DW2 90 00 1 |]|eKQJ5 ¢ A9432 4SE4 620 -60 4
AT & 876 1DW2 -90 00 1 ||& KJ97 a8
F VAN K73 2SE2 410 1.0 1 FOVAN A Q74
N 1~~~~ 998 2sw3 140 20 1IN ~~~~~ v AQT842
S 1~~~~ oKQ7 2SXE2 670 110 1]||S ~~~~~ ¢ 86
E ~2221 &KQJ92 E ~5~5~ a42
~2221 W ~5~5~
#5 » AK 1NN-1 -100 Mean: 2DN2 20 30 1(|#6 » Q542 7HW7 -2210 Mean: 6HW7 1460 7.0 4
¢T3 2SW2-110 -10  1NN1 20 30 2 v T76 6NE7 -1470 -1730 6NE7 1470 6.0 2
+ KQ8753 Dif: 10 NS:-3  2SW-1 50 20 2 ¢ JT64 Dif: -740 NS:-10 A 00 2
& QT2 IMP: 0 EW:3 A 00 2 a T4 IMP: -12 EW:-6 7SXS-8  -2000 -7.0 1
A T765 s QM 2sW2 410 3.0 2 (|a7 & AK 7CE7 2140 9.0 1
v AQ2 v 8765 2DN-1 100 -3.0 2 ||e AKJ93 —_— v Q54 THW? 2210 100 1
¢ AT6 ¢ J9 1NN-1 100 3.0 1 |]|e K8 + AQ532 THE7 2210 100 1
& 876 & AK53 & KJ853 & A76
oo VAN 49832 P o VAN 4, JT9863
N ~1~~~ 9KJ9 N ~~~~~ v 82
S ~1~~~ 442 S ~~~~~ * 97
E 2~121 &J9 E 767 ~7 &Q92
2~121 W 767~7
#7 a T643 3NW5 -660 Mean: 4HW4 620 1.0 1||# 8 a 975 2DE3 -110 Mean: 3NE-2 100 40 1
v Q98 3NW4 -630 -640 3NW3 600 1.0 1 v K976 3NE-2100 -40  1NW-2 100 40 1
¢ Q9532 Dif: -30 NS:-1 A 00 2 ¢ 97 Dif: 210 NS:-2 1NN1 0 40 1
&K IMP: -1 EW:0 3NW4 630 0.0 3 » KQJ5 IMP: -5 EW:-4 A 00 2
» AQ8 s KJ72 3NW5 660 1.0 4 ||a AT64 # 82 25S-1 50 00 1
v J2 + v AT654 W6 600 20 1 ||e AQU42 v5 THW1 80 0 1
¢ KJT ¢ A ¢ Q ¢ KT8532 3DE3 10 20 2
& JT976 S & A42 & A2 & T984 2DE3 110 2.0 1
FOeVAN 495 % ¢V AN 4 KQJ3 1HW2 10 20 1
N ~~~~ ~ v K73 N ~~1~1 ¢T83 35S-3 150 3.0 1
S ~~~~~ + 8764 S ~~1~1 ¢ A64
E 5~455 &Q853 E ~4~~~ a763
5~455 W ~4~~-~
#9 s Q4 4SW4 -620 Mean: 4SXE-1 200 80 1 ||# 10 a7 4SE-2 200 Mean: 4SE-2 200 40 3
v KQJ754 2SW4 -170 140  4SW-1 100 6.0 2 v JT53 1SE1-80 50  3SE-2 200 40 1
¢ KT4 Dif: -450 NS:-10 3HN-1 50 3.0 1 ¢ AJ532 Dif: 280 NS:4 3SE-1 100 20 1
& A9 IMP: -10 EW:1  5HXN-1  -100 1.0 1 » JT9 IMP: 7 EW:4 2HN2 10 20 1
& J8732 & KT96 A 00 2 ||a AT3 # K9652 A 00 2
v A963 v38 2sw3 4140 00 1 ||e Q7 + B v4 3HS-1 100 40 1
+6 + AJ93 3SW4 470 1.0 1 ||e Q98 + K64 1SE1 80 40 1
a J53 » KQ82 2sw4 470 1.0 1 ||& A7652 » KQ4 2SE3 140 5.0 1
* VAN A5 4SW4 620 -100 2 d VAN 4, Q4 1SE3 -140 5.0 1
N ~11~~ @T2 N ~13~~ « AK986
S ~11~~ 4Q8752 S ~13~~ ¢T7
E 2~~4~ aT764 E3~~21 a8
2~~4-~ W 3~~21




Ll > >3z s\ 4 J—
7 1102 EXE 2RABERFBE == RT 7
L T
AYA
#1: 3 BFAR(93.63) #2: 6 K 4-45(82.21) #3: 10 ZZfR(Q0.5)
3 NS: fR{EH FEBEIO) 14 8 NS: B35 32 2ZBFZ(BAC) 11 VP:| 10.77 : 9.23 | Total VP: 93.63 Rank:
EW: ZEREIR B¥KERC) -11 EW: BREZHE R{CE(FO0) 1 IMP:| 18 16 1
. I
# 1 # 852 4CE4 -130 Mean: 6CW-2 100 9.0 1 [[# 2 » KQ53 3HS-2-200 Mean: 4SXW-2 300 110 1
v KJ93 6CE-2100 -280 6CE-2 100 9.0 1 v 52 3HS-2-200 -240  3HS-1 100 4.0 1
¢ QT842 Dif: -230 NS:4 4CE4 130 40 1 ¢ T62 Dif: 0 NS:1  3HS-2 200 1.0 5
&7 IMP: -6 EW:-9 A 00 2 » 7642 IMP: 0 EW:-1 A 00 2
s AT s 94 3NW3 400 3.0 4 ||a 84 #» AJ9762 4HS-3 300 20 1
v A75 v Q84 3NE3 400 3.0 2 [|e AQJ | w7 3HXS-2  -500 -6.0 1
* J96 ¢ AK3 4SXS-3 500 6.0 1 ||e J94 + Q853 4HXS-3  -800 -11.0 1
& KQ854 & AJT96 & KQJT8 & 53
%o VAN 4, KQJ763 B OVAN AT
N ~~~~~ v T62 N ~~ 1~ ~ o KT98643
S ~~~~~ ¢ 75 S ~~1~~ ¢ AK7
E 4~~~3 832 E 33~33 aA9
4 ~~~3 W 33~33
# 3 aJT2 1DW1 -70 Mean: 2SE-1 100 50 1 |[|# 4 # 65 5DW5 -600 Mean: 5SE-1 100 110 1
v KT43 1DW2-90 -90  2NW-1 100 50 1 v 976 4SE5 -650 -400  4SW-1 100 110 1
¢ T93 Dif: 20 NS:1  1DW-1 100 50 1 * T7 Dif: 50 NS:-5 4SE-1 100 110 1
& 543 IMP:1 EW:0 1DW1 -70 1.0 1 » AQT653 IMP:2 EW:6 A 00 2
s Q5 » A9864 A 00 2 ||aAJT2 # K983 5DW5 600 -50 1
v AJ75 v Q62 3CS-2 100 00 1 ||eK + v J53 4SE5 650 -6.0 2
¢ AJ854 ¢ 62 2DW2 90 00 1 |]|eKQJ5 ¢ A9432 4SE4 620 -6.0 4
AT & 876 1DW2 -90 00 1 ||& KJ97 a8
B¢V AN 4,K73 2SE2 410 1.0 1 FeVAN o, Q74
N 1~~~~ 998 2SW3 140 20 1[N ~~~~~ v AQT842
S 1~~~~ ¢KQ7 2SXE2 670 110 1[|S ~~~~~ ¢ 86
E ~2221 &KQJ92 E ~5~5~ a42
~2221 W ~5~5~
#5 » AK 2SW2 -110 Mean: 2DN2 90 30 1(|#6 » Q542 6HW7 -1460 Mean: 6HW7 1460 7.0 4
¢T3 2DN290 -10  1NN1 90 30 2 v T76 6HW7 -1460 -1730 6NE7 1470 6.0 2
+ KQ8753 Dif: -200 NS:-3 2SW-1 50 20 2 ¢ JTE4 Dif: 0 NS:7 A 00 2
& QT2 IMP: -5 EW:-3 A 00 2 a T4 IMP: 0 EW:-7 7SXS-8  -2000 -7.0 1
a T765 a QM4 2SW2 410 3.0 2 (|a7 & AK 7CE7 2140 9.0 1
v AQ2 v 8765 2DN-1 100 -3.0 2 ||e AKJ93 —_— v Q54 THW7 2210 100 1
¢ AT6 ¢ J9 1NN-1 100 3.0 1 |]|e K8 + AQ532 THE7 2210 100 1
& 876 & AK53 & KJ853 & A76
oo VAN 49832 P o VAN 4, JT9863
N ~1~~~ ¢KJM N ~~~~~ v 82
S ~1~~~ 442 S ~~~~~ * 97
E 2~121 &J9 E 767 ~7 &Q92
2~121 W 767~7
#7 a T643 3NW4 -630 Mean: 4HW4 620 10 1 |[|# 8 & 975 1HW1 -80 Mean: 3NE-2 100 40 1
v Q98 4HW4 -620 -640 3NW3 600 1.0 1 v K976 1NN190 -40  1NW-2 100 40 1
¢ Q9532 Dif: -10 NS:0 A 00 2 * 97 Dif: -170 NS:-1  1NN1 90 40 1
&K IMP: 0 EW:-1 3NW4 630 00 3 » KQJ5 IMP: -5 EW:-4 A 00 2
» AQ8 s KJ72 3NW5 660 1.0 4 ||s AT64 # 82 2881 50 00 1
v J2 + v AT654 W6 600 20 1 ||e AQU42 v5 THW1 80 0 1
¢ KJT ¢ A *QJ ¢ KT8532 3DE3 110 220 2
& JT976 S & A42 & A2 & T984 2DE3 110 2.0 1
FOVAN 4,95 * eV AN 4, KQ3 1HW2 410 20 1
N ~~~~ ~ v K73 N ~~1~1 ¢T83 3SS-3 150  -3.0 1
S ~~~~~ + 8764 S ~~1~1 ¢ A64
E 5~455 Q853 E ~4~~~ a763
5~455 W ~4~~~
#9 s Q4 4SW-1 100 Mean: 4SXE-1 200 80 1 ||# 10 a7 4SE-2 200 Mean: 4SE-2 200 40 3
v KQJ754 4SW4 -620 -140  4SW-1 100 6.0 2 v JT53 2HN2 110 50  3SE-2 200 40 1
¢ KT4 Dif: 720 NS:6  3HN-1 50 3.0 1 + AJ532 Dif: 90 NS:4 3SE-1 100 20 1
& A9 IMP: 12 EW:10 5HXN-1 100 1.0 1 & JT9 IMP: 3 EW:-2 2HN2 110 20 1
& J8732 & KT96 A 00 2 ||a AT3 # K9652 A 00 2
v A963 v38 2SW3 140 00 1 ||e Q7 + M v4 3HS-1 100 40 1
+6 + AJ93 3SW4 470 1.0 1 [|e Q98 + K64 1SE1 80 40 1
a J53 » KQ82 2sw4 470 1.0 1 ||& A7652 » KQ4 2SE3 140 5.0 1
POV ABN LA 4SW4 620 -100 2 d VAN 4, Q4 1SE3 -140 5.0 1
N ~11~~ @T2 N ~13~~ « AK986
S ~11~~ 4Q8752 S ~13~~ ¢T7
E 2~~4~ &T764 E 3~~21 83
2~~4-~ W 3~~21




Ll q >3z s\ 4 —_
7 102EE2RABERE 2B E ==> RT 7
L T
AYA
#1: 3 BFAR(93.63) #2: 6 K 4-45(82.21) #3: 10 ZZfR(Q0.5)
4 INS: S5 BI7FEEHO) -7 9 NS: FR1EE8 E(2&(BAC) 1 VP:| 6.00 14.00 | Total VP: 73.42 Rank:
EW: £2881E BS=EEEAC) -1 EW: BfF I8 R(BA0) IMP:| 16 28 5
_
#1 & 852 3NW3 -400 Mean: 6CW-2 100 9.0 1 [[# 2 » KQ53 3HXS-2 -500 Mean: 4SXW-2 300 11.0 1
v KJ93 3NW3 -400 -280 6CE-2 100 9.0 1 v 52 3HS-2-200 -240 3HS-1 100 40 1
+ QT842 Dif: 0 NS:-3 4CE4 130 40 1 ¢ T62 Dif: -300 NS:-6 3HS-2 200 1.0 5
a7 IMP: 0 EW:3 A 00 2 a 7642 IMP: -7 EW:-1 A 00 2
a AT s 94 3NW3 400 3.0 4 ||a 84 » AJO762 4HS-3 300 20 1
v A75 v Q84 3NE3 400 3.0 2 ||e AQJ | w7 3HXS-2  -500 -6.0 1
+ J96 ¢ AK3 4SXS-3  -500 -6.0 1 [|e J94 ¢ Q853 4HXS-3  -800 -11.0 1
& KQ854 & AJT96 & KQJT8 & 53
%o VAN 4, KQJ763 B OVAN AT
N ~~~~~ v T62 N ~~ 1~ ~ o KT98643
S ~~~~~ ¢ 75 S ~~1~~ ¢ AK7
E 4~~~3 832 E 33~33 aA9
4 ~~~3 W 33~33
# 3 aJT2 2NW-1 100 Mean: 2SE-1 100 50 1 |[|# 4 » 65 4SE-1100 Mean: 5SE-1 100 110 1
v KT43 1DW-1100 -90  2NW-1 100 50 1 v 976 4SE4 -620 -400  4SW-1 100 110 1
¢ T93 Dif: 0 NS:5 1DW-1 100 50 1 *T7 Dif: 720 NS:11  4SE-1 100 110 1
& 543 IMP: 0 EW:-5 1DW1 -70 1.0 1 » AQT653 IMP: 12 EW:6 A 00 2
s Q5 # A9864 A 00 2 ||aAJT2 # K983 5DW5 600 -5.0 1
v AJ75 v Q62 3Cs-2 100 00 1]||eK _|_ v J53 4SE5 650 -6.0 2
+ AJ854 ¢ 62 2DW2 90 00 1 |]|eKQJ5 * A9432 4SE4 620 -60 4
AT & 876 1DW2 -90 00 1 ||& KJ97 a8
F VAN K73 2SE2 410 1.0 1 FOVAN A Q74
N 1~~~~ 998 2sw3 140 20 1IN ~~~~~ v AQT842
S 1~~~~ oKQ7 2SXE2 670 110 1]||S ~~~~~ ¢ 86
E ~2221 &KQJ92 E ~5~5~ a42
~2221 W ~5~5~
#5 » AK 2SW-1 50 Mean: 2DN2 20 30 1(|#6 » Q542 7SXS-8 -2000 Mean: 6HW7 1460 7.0 4
¢T3 2DN-1-100 -10  1NN1 90 3.0 2 v T76 6NE7 -1470 -1730 6NE7 1470 6.0 2
+ KQ8753 Dif: 150 NS:2 2SW-1 50 20 2 ¢ JT64 Dif: -530 NS:-7 A 00 2
& QT2 IMP: 4 EW:3 A 00 2 a T4 IMP: -11 EW:-6 7SXS-8  -2000 -7.0 1
A T765 s QM 2sW2 10 3.0 2 ||a7 & AK 7CE7 2140 9.0 1
v AQ2 v 8765 2DN-1 100 -3.0 2 ||e AKJ93 —_— v Q54 THW? 2210 100 1
¢ AT6 ¢ J9 1NN-1 100 3.0 1 |]|e K8 + AQ532 THE7 2210 100 1
& 876 & AK53 & KJ853 & A76
oo VAN 49832 P o VAN 4, JT9863
N ~1~~~ ¢KJM N ~~~~~ v 82
S ~1~~~ 442 S ~~~~~ * 97
E 2~121 &J9 E 767 ~7 &Q92
2~121 W 767~7
#7 a T643 3NW5 -660 Mean: 4HW4 620 1.0 1||# 8 a 975 3SS-3 -150 Mean: 3NE-2 100 40 1
v Q98 3NW4 -630 -640 3NW3 600 1.0 1 v K976 2S8S-1-50 -40  1NW-2 100 40 1
¢ Q9532 Dif: -30 NS:-1 A 00 2 ¢ 97 Dif: -100 NS:-3 1NN1 0 40 1
&K IMP: -1 EW:0 3Nw4 630 0.0 3 » KQJ5 IMP: -3 EW:0 A 00 2
» AQ8 » KJ72 3NW5 660 1.0 4 ||a AT64 » 82 25S-1 50 00 1
v J2 + v AT654 W6 600 20 1 ||e AQU42 v5 THW1 80 0 1
¢ KT ¢ A ¢ Q ¢ KT8532 3DE3 10 20 2
& JT976 S & A42 & A2 & T984 2DE3 110 2.0 1
FOeVAN 495 % ¢V AN 4 KQJ3 1HW2 10 20 1
N ~~~~ ~ v K73 N ~~1~1 ¢T83 35S-3 150 3.0 1
S ~~~~~ + 8764 S ~~1~1 ¢A64
E 5~455 &Q853 E ~4~~~ a763
5~455 W ~4~~-~
#9 s Q4 2SW3 -140 Mean: 4SXE-1 200 80 1 ||# 10 a7 2SE3 -140 Mean: 4SE-2 200 40 3
v KQJ754 4SW-1100 -140  4SW-1 100 6.0 2 v JT53 1SE3 -140 50  3SE-2 200 40 1
¢ KT4 Dif: -240 NS:0  3HN-1 50 3.0 1 ¢ AJ532 Dif: 0 NS:-5 3SE-1 100 20 1
& A9 IMP: -6 EW:6 5HXN-1  -100 1.0 1 » JT9 IMP: 0 EW:5 2HN2 10 20 1
& J8732 & KT96 A 00 2 ||a AT3 # K9652 A 00 2
v A963 v38 2sw3 4140 00 1 ||e Q7 _|_ B v4 3HS-1 100 40 1
+6 + AJ93 3SW4 470 1.0 1 ||e Q98 + K64 1SE1 80 40 1
& J53 » KQ82 2sw4 470 1.0 1 ||& A7652 » KQ4 2SE3 140 5.0 1
POV ABN LA 4SW4 620 -100 2 d VAN 4, Q4 1SE3 -140 5.0 1
N ~11~~ @T2 N ~13~~ « AK986
S ~11~~ ¢Q8752 S ~13~~ oT7
E 2~~4~ aT764 E3~~21 a8
2~~4-~ W 3~~21




Ll q >3z s\ 4 —_
7 102EE2RABERE 2B E ==> RT 7
L T
AYA
#1: 3 BFAR(93.63) #2: 6 K 4-45(82.21) #3: 10 ZZfR(Q0.5)
5 INS: B TTRWLEEO) 5 7 NS: ZE# FFmE(BAC) 3 VP:| 10.39 : 9.61 Total VP: 46.09 Rank:
EW: BEEIE Wiek=FFC) -3 EW: #H83E 25A{_(F0) -5 IMP:| 31 : 30 10
- _
#1 & 852 3NE3 -400 Mean: 6CW-2 100 9.0 1 [[# 2 » KQ53 4SXW-2 300 Mean: 4SXW-2 300 11.0 1
v KJ93 3NW3 -400 -280 6CE-2 100 9.0 1 v 52 4HS-3-300 -240  3HS-1 100 40 1
+ QT842 Dif: 0 NS:-3 4CE4 130 40 1 ¢ T62 Dif: 600 NS:11 3HS-2 200 1.0 5
a7 IMP: 0 EW:3 A 00 2 a 7642 IMP: 12 EwW:2 A 00 2
a AT s 94 3NW3 400 3.0 4 ||a 84 » AJO762 4HS-3 300 20 1
v A75 v Q84 3NE3 400 3.0 2 ||e AQJ | w7 3HXS-2  -500 -6.0 1
+ J96 ¢ AK3 4SXS-3  -500 -6.0 1 [|e J94 ¢ Q853 4HXS-3  -800 -11.0 1
& KQ854 & AJT96 & KQJT8 & 53
%o VAN 4, KQJ763 B OVAN AT
N ~~~~~ v T62 N ~~ 1~ ~ o KT98643
S ~~~~~ ¢ 75 S ~~1~~ ¢ AK7
E 4~~~3 832 E 33~33 aA9
4 ~~~3 W 33~33
# 3 aJT2 2DW2 -90 Mean: 2SE-1 100 50 1 |[|# 4 » 65 4SW-1 100 Mean: 5SE-1 100 110 1
v KT43 2SW3 -140 -90  2NW-1 100 50 1 v 976 4SE4 -620 -400  4SW-1 100 110 1
¢ T93 Dif: 50 NS:0 1DW-1 100 50 1 *T7 Dif: 720 NS:11  4SE-1 100 110 1
& 543 IMP: 2 EW:2 1DW1 -70 1.0 1 » AQT653 IMP: 12 EW:6 A 00 2
s Q5 # A9864 A 00 2 ||aAJT2 # K983 5DW5 600 -5.0 1
v AJ75 v Q62 3Cs-2 100 00 1]||eK _|_ v J53 4SE5 650 -6.0 2
+ AJ854 ¢ 62 2DW2 90 00 1 |]|eKQJ5 * A9432 4SE4 620 -60 4
AT & 876 1DW2 -90 00 1 ||& KJ97 a8
F VAN K73 2SE2 410 1.0 1 FOVAN A Q74
N 1~~~~ 998 2sw3 140 20 1IN ~~~~~ v AQT842
S 1~~~~ oKQ7 2SXE2 670 110 1]||S ~~~~~ ¢ 86
E ~2221 &KQJ92 E ~5~5~ a42
~2221 W ~5~5~
#5 » AK 1NN1 90 Mean: 2DN2 20 30 1(|#6 » Q542 7HE7 -2210 Mean: 6HW? 1460 7.0 4
¢T3 2DN-1-100 -10  1INN1 90 3.0 2 v T76 6HW7 -1460 -1730 6NE7 1470 6.0 2
+ KQ8753 Dif: 190 NS:3  2SW-1 50 20 2 ¢ JT64 Dif: -750 NS:-10 A 00 2
& QT2 IMP: 5 EW:3 A 00 2 a T4 IMP: -13 EW:-7 7SXS-8  -2000 -7.0 1
A T765 s QM 2sW2 10 3.0 2 ||a7 & AK 7CE7 2140 9.0 1
v AQ2 v 8765 2DN-1 100 -3.0 2 ||e AKJ93 —_— v Q54 THW? 2210 100 1
¢ AT6 ¢ J9 1NN-1 100 3.0 1 |]|e K8 + AQ532 THE7 2210 100 1
& 876 & AK53 & KJ853 & A76
oo VAN 49832 P o VAN 4, JT9863
N ~1~~~ ¢KJM N ~~~~~ v 82
S ~1~~~ 442 S ~~~~~ * 97
E 2~121 &J9 E 767 ~7 &Q92
2~121 W 767~7
#7 a T643 3NW6 -690 Mean: 4HW4 620 1.0 1||# 8 a 975 1HW2 -110 Mean: 3NE-2 100 40 1
v Q98 3NW3 -600 -640 3NW3 600 1.0 1 v K976 INW-2 100 -40  1NW-2 100 40 1
¢ Q9532 Dif: -90 NS:2 A 00 2 ¢ 97 Dif: -210 NS:-2 1NN1 0 40 1
&K IMP: -3 EW:-1  3NW4 630 0.0 3 » KQJ5 IMP: -5 EW:4 A 00 2
» AQ8 » KJ72 3NW5 660 1.0 4 ||a AT64 » 82 25S-1 50 00 1
v J2 + v AT654 W6 600 20 1 ||e AQU42 v5 THW1 80 0 1
¢ KT ¢ A ¢ Q ¢ KT8532 3DE3 10 20 2
& JT976 S & A42 & A2 & T984 2DE3 110 2.0 1
FOeVAN 495 % ¢V AN 4 KQJ3 1HW2 10 20 1
N ~~~~ ~ v K73 N ~~1~1 ¢T83 35S-3 150 3.0 1
S ~~~~~ + 8764 S ~~1~1 ¢A64
E 5~455 &Q853 E ~4~~~ a763
5~455 W ~4~~-~
#9 s Q4 5HXN-1-100 Mean: 4SXE-1 200 80 1 ||# 10 a7 3HS-1-100 Mean: 4SE-2 200 40 3
v KQJ754 3HN-1-50 -140 4SW-1 100 6.0 2 v JT53 4SE-2200 50  3SE-2 200 40 1
¢ KT4 Dif: -50 NS:1  3HN-1 50 3.0 1 ¢ AJ532 Dif: -300 NS:-4 3SE-1 100 20 1
& A9 IMP: -2 EW:-3 5HXN-1 100 1.0 1 » JT9 IMP: -7 EW:-4 2HN2 10 20 1
& J8732 & KT96 A 00 2 ||a AT3 # K9652 A 00 2
v A963 v38 2sw3 4140 00 1 ||e Q7 _|_ B v4 3HS-1 100 40 1
+6 + AJ93 3SW4 470 1.0 1 ||e Q98 + K64 1SE1 80 40 1
& J53 » KQ82 2sw4 470 1.0 1 ||& A7652 » KQ4 2SE3 140 5.0 1
POV ABN LA 4SW4 620 -100 2 d VAN 4, Q4 1SE3 -140 5.0 1
N ~11~~ @T2 N ~13~~ « AK986
S ~11~~ ¢Q8752 S ~13~~ oT7
E 2~~4~ aT764 E3~~21 a8
2~~4-~ W 3~~21




B q I3 s\ ' —
7 1102 EXE 2RABERFBE == RT 7
L T
AYA
#1: 3 BFA(93.63) #2: 6 KT 443(82.21) #3: 10 Z=1E(80.5)
6 INS: $he5 1 BiEs2REAC) 16 1 NS: 5225 REZ(B0) 15 VP:| 10.00 : 10.00| Total VP: 82.21 Rank:
EW: {28 g3 (5E0) -15 EW: &30& SEBUR(EAC) 1 IMP:| 28 28 2
I
#1 # 852 3NW3 400 Mean: 6CW-2 100 9.0 1 |[|# 2 & KQ53 3HS-1 100 Mean: 4SXW-2 300 11.0 1
v KJ93 6CW-2 -100 -280 6CE-2 100 9.0 1 v 52 3HS-2200 -240 3HS-1 -100 40 1
¢ QT842 Dif: 500 NS:9 4CE4 -130 40 1 ¢ T62 Dif: -100 NS:1  3HS-2 200 1.0 5
&7 IMP: 11 EW:3 A 00 2 » 7642 IMP: -3 EW:-4 A 00 2
s AT s 94 3NW3 400 3.0 4 ||a 84 & AJ9762 4HS-3 -300 20 1
v A75 v Q84 3NE3 400 3.0 2 [|e AQJ I w7 3HXS-2 -500 -6.0 1
+ J96 ¢+ AK3 4SXS-3 500 6.0 1 ||e J94 + Q853 4HXS-3 -800 -11.0 1
& KQ854 & AJT96 & KQJT8 & 53
%o VAN 4, KQJ763 B OVAN AT
N ~~~~~ v 762 N ~~1~~ o KT98643
S ~~~~~ *75 S ~~1~~ ¢AK7
E 4~~~3 a32 E 33~33 aA9
4 ~~~3 W 33~33
# 3 aJT2 3CS-2100 Mean: 2SE-1 100 50 1 |[|# 4 # 65 5SE-1-100 Mean: 5SE-1 100 110 1
v KT43 2SE-1-100 -90  2NW-1 100 50 1 v 976 4SE4 620 -400  4SW-1 100 110 1
¢ T93 Dif: 200 NS:5 1DW-1 100 50 1 *T7 Dif: -720 NS:-6 4SE-1 100 110 1
& 543 IMP: 5 EW:-0 1DW1 -70 1.0 1 » AQT653 IMP: 12 EW:-11 A 00 2
a Q5 & A9864 A 00 2 ||a AJT2 & K983 5DW5 600 -50 1
v AJ75 v Q62 3CS-2 100 00 1 ||eK + v J53 4SE5 650 -6.0 2
+ AJB54 ¢ 62 2DW2 -90 00 1 []|e KQJS * A9432 4SE4 620 60 4
AT & 876 1DW2 -90 00 1 ||& KJ97 a8
e VAN ,K73 2SE2 110 1.0 1 deVAN 4, Q74
N 1~~~~ 998 2SW3 140 20 1[N ~~~~~ v AQT842
S 1~~~~ oKQ7 2SXE2 670 110 1[|S ~~~~~ ¢ 86
E ~2221 &KQJ92 E ~5~5~ a42
~2221 W ~5~5~
#5 » AK 1NN1 -90 Mean: 2DN2 90 30 1(|# 6 » Q542 7CE7 2140 Mean: 6HW7 1460 7.0 4
v T3 2SW-1-50 -10  1NN1 90 30 2 v T76 6HW?7 1460 -1730 6NE7 1470 6.0 2
+ KQ8753 Dif: -40 NS:2 2SwW-1 50 20 2 ¢ JTE4 Dif: 680 NsS:7 A 0.0 2
& QT2 IMP: -1 EW:-3 A 00 2 a T4 IMP: 12 EW:9 7SXS-8  -2000 -7.0 1
& T765 a QM4 25W2 110 3.0 2 [|a7 & AK 7CE7 2140 9.0 1
v AQ2 v 8765 2DN-1 -100 3.0 2 |[|e AKJI3 —_— v Q54 THW7 2210 100 1
+ AT6 * J9 1NN-1 100 3.0 1 ||e K8 + AQ532 THE? 2210 100 1
& 876 & AK53 & KJ853 & A76
o ¢ VAN 49832 P o VAN 4, JT9863
N ~1~~~ 9KJ9 N ~~~~~ v 82
S ~1~~~ 42 S ~~~~~ * 97
E 2~121 &J9% E 767~7 &Q92
2~121 W 767~7
#7 # T643 3NW5 660 Mean: 4HW4 620 1.0 1 |[|# 8 & 975 3DE3 110 Mean: 3NE-2 100 40 1
v Q98 3NW5 660 -640 3NW3 -600 1.0 1 v K976 3DE3 110 -40 1NW-2 100 40 1
+» Q9532 Dif: 0 NS:-1 A 00 2 ¢ 97 Dif: 0 NS:-2 1NN1 90 40 1
&K IMP: 0 EW:1 3NW4 630 00 3 & KQJ5 IMP: 0 EW:2 A 00 2
» AQ8 » KJ72 3NW5 660 1.0 4 ||a AT64 s 82 28S-1 50 00 1
v J2 + v AT654 W6 600 20 1 ||e AQU42 v5 MW 80 10 1
¢ KJT *A *QJ ¢ KT8532 3DE3 110 20 2
& JT976 S & A42 & A2 & T984 2DE3 110 2.0 1
P eVAN 4,95 %oV AN 4 KQJ 1HW2 110 20 1
N ~~~~ ~ v K73 N ~~1~1 ¢ T83 38S-3 150 3.0 1
S ~~~~~ + 8764 S ~~1~1 ¢ A64
E 5~455 &Q853 E ~4~~~ a763
5~455 W ~4 ~~ ~
#9 s Q4 4SXE-1-200 Mean: 4SXE-1 200 80 1 ||# 10 a7 3SE-2 -200 Mean: 4SE-2 200 40 3
v KQJ754 3SW4 170 -140  4SW-1 100 6.0 2 v JT53 3SE-1-100 50 3SE-2 200 40 1
* KT4 Dif: -370 NS:-1  3HN-1 -50 30 1 o AJ532 Dif: -100 NS:2 3SE-1 100 20 1
& A9 IMP: -9 EW:-8 5HXN-1 100 1.0 1 & JT9 IMP: -3 EW:-4 2HN2 110 20 1
& J8732 & KT96 A 00 2 ||a AT3 # K9652 A 00 2
v A963 v38 2SW3 140 00 1 ||e Q7 + M v4 3HS-1 -100 40 1
*6 + AJ93 3SW4 170 1.0 1 [|e Q98 * K64 1SE1 80 -40 1
& J53 a KQ82 25W4 170 1.0 1 ||& A7652 » KQ4 2SE3 140 50 1
POV ABN LA 4SW4 620 -100 2 d VAN 4, Q4 1SE3 140  -5.0 1
N ~11~~ T2 N ~ 13~ ~ « AK986
S ~11~~ Q8752 S ~13~~ o717
E 2~~4~ &T764 E 3~~21 83
2 ~~4~ W 3~~21




Ll q >3z s\ 4 J—
7 1102 EXE 2RABERFBE == RT 7
L T
AYA
#1: 3 BFAR(93.63) #2: 6 K 4-45(82.21) #3: 10 ZZfR(Q0.5)
7 INS: Bk #FEEEAC) 3 5 NS: [R#R IR (BO) 5 VP:| 9.61 10.39| Total VP: 56.79 Rank:
EW: #hiE2E BR5A{(BH0) -5 EW: EEBIEE Eek=(BAC) -3 IMP:{ 30 : 31 9
. I
# 1 & 852 3NE3 400 Mean: 6CW-2 100 9.0 1 [[# 2 » KQ53 4SXW-2 -300 Mean: 4SXW-2 300 11.0 1
v KJ93 3NW3 400 -280 6CE-2 100 9.0 1 v 52 4HS-3300 -240 3HS-1 100 4.0 1
¢ QT842 Dif: 0 NS:-3 4CE4 130 40 1 ¢ T62 Dif: -600 NS:-2 3HS-2 200 1.0 5
&7 IMP: 0 EW:3 A 00 2 a 7642 IMP: -12 EW:-11 A 00 2
s AT s 94 3NW3 400 3.0 4 ||a 84 #» AJ9762 4HS-3 300 20 1
v A75 v Q84 3NE3 400 3.0 2 [|e AQJ | w7 3HXS-2  -500 -6.0 1
* J96 ¢ AK3 4SXS-3 500 6.0 1 ||e J94 ¢ Q853 4HXS-3  -800 -11.0 1
& KQ854 & AJT96 & KQJT8 & 53
%o VAN 4, KQJ763 B OVAN AT
N ~~~~~ v T62 N ~~ 1~ ~ o KT98643
S ~~~~~ ¢ 75 S ~~1~~ ¢ AK7
E 4~~~3 832 E 33~33 aA9
4 ~~~3 W 33~33
# 3 aJT2 2DW2 90 Mean: 2SE-1 100 50 1 |[|# 4 # 65 4SW-1-100 Mean: 5SE-1 100 110 1
v KT43 2SW3 140 -90  2NW-1 100 50 1 v 976 4SE4 620 -400  4SW-1 100 110 1
¢ T93 Dif: -50 NS:-2 1DW-1 100 50 1 * T7 Dif: -720 NS:-6 4SE-1 100 110 1
& 543 IMP: -2 EW:-0 1DWA1 -70 1.0 1 » AQT653 IMP: 12 EW:-11 A 00 2
s Q5 » A9864 A 00 2 ||aAJT2 # K983 5DW5 600 -50 1
v AJ75 v Q62 3CS-2 100 00 1 ||eK _|_ v J53 4SE5 650 -6.0 2
¢ AJ854 ¢ 62 2DW2 90 00 1 |]|eKQJ5 ¢ A9432 4SE4 620 -6.0 4
AT & 876 1DW2 -90 00 1 ||& KJ97 a8
F VAN K73 2SE2 410 1.0 1 FeVAN o, Q74
N 1~~~~ 998 2SW3 140 20 1[N ~~~~~ v AQT842
S 1~~~~ ¢KQ7 2SXE2 670 110 1[|S ~~~~~ ¢ 86
E ~2221 &KQJ92 E ~5~5~ a42
~2221 W ~5~5~
#5 » AK 1NN1 -90 Mean: 2DN2 90 30 1(|#6 » Q542 7HE7 2210 Mean: 6HW7 1460 7.0 4
¢T3 2DN-1100 -10  1NN1 90 30 2 v T76 6HW7 1460 -1730 6NE7 1470 6.0 2
+ KQ8753 Dif: -190 NS:-3 2SW-1 50 20 2 ¢ JT64 Dif: 750 NS:7 A 00 2
& QT2 IMP: -5 EW:-3 A 00 2 a T4 IMP: 13 EW:10 7SXS-8  -2000 -7.0 1
a T765 s QM 2SW2 410 3.0 2 (|a7 & AK 7CE7 2140 9.0 1
v AQ2 v 8765 2DN-1 100 -3.0 2 ||e AKJ93 —_— v Q54 THW7 2210 100 1
¢ AT6 ¢ J9 1NN-1 100 3.0 1 |]|e K8 + AQ532 THE7 2210 100 1
& 876 & AK53 & KJ853 & A76
oo VAN 49832 P o VAN 4, JT9863
N ~1~~~ 9KJ9 N ~~~~~ v 82
S ~1~~~ 442 S ~~~~~ * 97
E 2~121 &J9 E 767 ~7 &Q92
2~121 W 767~7
#7 a T643 3NW6 690 Mean: 4HW4 620 10 1 |[|# 8 a 975 1HW2 110 Mean: 3NE-2 100 40 1
v Q98 3NW3 600 -640 3NW3 600 1.0 1 v K976 ANW-2 -100 -40  1NW-2 100 40 1
¢ Q9532 Dif: 90 Ns:1 A 00 2 * 97 Dif: 210 NS:4 1NN1 90 40 1
&K IMP: 3 EW:2 3NW4 630 00 3 » KQJ5 IMP: 5 EW:2 A 00 2
» AQ8 s KJ72 3NW5 660 1.0 4 ||a AT64 # 82 2881 50 00 1
v J2 + v AT654 W6 600 20 1 ||e AQU42 v5 THW1 80 0 1
¢ KJT ¢ A *QJ ¢ KT8532 3DE3 110 220 2
& JT976 S & A42 & A2 & T984 2DE3 110 2.0 1
FOeVAN 495 * eV AN 4, KQ3 1HW2 410 20 1
N ~~~~ ~ v K73 N ~~1~1 ¢T83 3SS-3 150  -3.0 1
S ~~~~~ + 8764 S ~~1~1 ¢ A64
E 5~455 Q853 E ~4~~~ a763
5~455 W ~4~~~
#9 s Q4 5HXN-1 100 Mean: 4SXE-1 200 80 1 ||# 10 a7 3HS-1 100 Mean: 4SE-2 200 40 3
v KQJ754 3HN-150 -140 4SW-1 100 6.0 2 v JT53 4SE-2-200 50  3SE-2 200 40 1
¢ KT4 Dif: 50 NS:3  3HN-1 50 3.0 1 + AJ532 Dif: 300 NS:4 3SE-1 100 20 1
& A9 IMP: 2 EW:-1 5HXN-1 100 1.0 1 » JT9 IMP: 7 EW:4 2HN2 110 20 1
& J8732 & KT96 A 00 2 ||a AT3 # K9652 A 00 2
v A963 v38 2SW3 4140 00 1 ||e Q7 _|_ B v4 3HS-1 100 40 1
+6 + AJ93 3SW4 470 1.0 1 ||e Q98 + K64 1SE1 80 40 1
a J53 » KQ82 2sw4 470 1.0 1 ||& A7652 » KQ4 2SE3 140 5.0 1
POV ABN LA 4SW4 620 -100 2 d VAN 4, Q4 1SE3 -140 5.0 1
N ~11~~ @T2 N ~13~~ « AK986
S ~11~~ 4Q8752 S ~13~~ ¢T7
E 2~~4~ &T764 E 3~~21 83
2~~4-~ W 3~~21




Ll > >3z s\ 4 J—
7 1102 EXE 2RABERFBE == RT 7
L T
AYA
#1: 3 BFAR(93.63) #2: 6 K 4-45(82.21) #3: 10 ZZfR(Q0.5)
8 INS: ¥R Z5HHE(BAC) 11 3 NS: #B{E32 FFEH(BAO) 14 VP:| 9.23 10.77 | Total VP: 60.72 Rank:
EW: BEEEHE R{—(Z(EH0) -14 EW: ZZ#ET5 ZI3¥K(BAC) 1 IMP:| 16 18 8
. I
# 1 # 852 4CE4 130 Mean: 6CW-2 100 9.0 1 [[# 2 » KQ53 3HS-2200 Mean: 4SXW-2 300 11.0 1
v KJ93 6CE-2-100 -280 6CE-2 100 9.0 1 v 52 3HS-2200 -240 3HS-1 100 4.0 1
¢ QT842 Dif: 230 NS:9 4CE4 130 40 1 ¢ T62 Dif: 0 NS:1  3HS-2 200 1.0 5
&7 IMP: 6 EW:-4 A 00 2 » 7642 IMP: 0 EW:-1 A 00 2
s AT s 94 3NW3 400 3.0 4 ||a 84 #» AJ9762 4HS-3 300 20 1
v A75 v Q84 3NE3 400 3.0 2 [|e AQJ | w7 3HXS-2  -500 -6.0 1
* J96 ¢ AK3 4SXS-3 500 6.0 1 ||e J94 ¢ Q853 4HXS-3  -800 -11.0 1
& KQ854 & AJT96 & KQJT8 & 53
%o VAN 4, KQJ763 B OVAN AT
N ~~~~~ v T62 N ~~ 1~ ~ o KT98643
S ~~~~~ ¢ 75 S ~~1~~ ¢ AK7
E 4~~~3 832 E 33~33 aA9
4 ~~~3 W 33~33
# 3 aJT2 1DW1 70 Mean: 2SE-1 100 50 1 |[|# 4 # 65 5DW5 600 Mean: 5SE-1 100 110 1
v KT43 1DW290 -90  2NW-1 100 50 1 v 976 4SE5 650 -400  4SW-1 100 110 1
¢ T93 Dif: -20 NS:-0 1DW-1 100 50 1 * T7 Dif: -50 NS:-6 4SE-1 100 110 1
& 543 IMP: -1 EW:-1  1DW1 -70 1.0 1 » AQT653 IMP: -2 EW:5 A 00 2
s Q5 » A9864 A 00 2 ||aAJT2 # K983 5DW5 600 -50 1
v AJ75 v Q62 3CS-2 100 00 1 ||eK + v J53 4SE5 650 -6.0 2
¢ AJ854 ¢ 62 2DW2 90 00 1 |]|eKQJ5 ¢ A9432 4SE4 620 -6.0 4
AT & 876 1DW2 -90 00 1 ||& KJ97 a8
B¢V AN 4,K73 2SE2 410 1.0 1 FeVAN o, Q74
N 1~~~~ 998 2SW3 140 20 1[N ~~~~~ v AQT842
S 1~~~~ ¢KQ7 2SXE2 670 110 1[|S ~~~~~ ¢ 86
E ~2221 &KQJ92 E ~5~5~ a42
~2221 W ~5~5~
#5 » AK 2SW2 110 Mean: 2DN2 90 30 1(|#6 » Q542 6HW7 1460 Mean: 6HW7 1460 7.0 4
¢T3 2DN2-90 -10  1NN1 90 30 2 v T76 6HW7 1460 -1730 6NE7 1470 6.0 2
+ KQ8753 Dif: 200 NS:3  2Sw-1 50 20 2 ¢ JTE4 Dif: 0 NS:7 A 00 2
& QT2 IMP: 5 EW:3 A 00 2 a T4 IMP: 0 EW:-7 7SXS-8  -2000 -7.0 1
a T765 a QM4 2SW2 410 3.0 2 (|a7 & AK 7CE7 2140 9.0 1
v AQ2 v 8765 2DN-1 100 -3.0 2 ||e AKJ93 —_— v Q54 THW7 2210 100 1
¢ AT6 ¢ J9 1NN-1 100 3.0 1 |]|e K8 + AQ532 THE7 2210 100 1
& 876 & AK53 & KJ853 & A76
oo VAN 49832 P o VAN 4, JT9863
N ~1~~~ K94 N ~~~~~ v 82
S ~1~~~ 442 S ~~~~~ * 97
E 2~121 &J9 E 767 ~7 &Q92
2~121 W 767~7
#7 a T643 3NW4 630 Mean: 4HW4 620 10 1 |[|# 8 & 975 1HW1 80 Mean: 3NE-2 100 40 1
v Q98 4HW4 620 -640 3NW3 600 1.0 1 v K976 1NN1-90 -40  1NW-2 100 40 1
¢ Q9532 Dif: 10 Ns:1 A 00 2 * 97 Dif: 170 NS:4 1NN1 90 40 1
&K IMP: 0 EW:-0 3NW4 630 00 3 » KQJ5 IMP: 5 EW:1 A 00 2
» AQ8 s KJ72 3NW5 660 1.0 4 ||s AT64 # 82 2881 50 00 1
v J2 + v AT654 W6 600 20 1 ||e AQU42 v5 THW1 80 0 1
¢ KJT ¢ A *QJ ¢ KT8532 3DE3 110 220 2
& JT976 S & A42 & A2 & T984 2DE3 110 2.0 1
FOVAN 4,95 * eV AN 4, KQ3 1HW2 410 20 1
N ~~~~ ~ v K73 N ~~1~1 ¢T83 3SS-3 150  -3.0 1
S ~~~~~ + 8764 S ~~1~1 ¢ A64
E 5~455 Q853 E ~4~~~ a763
5~455 W ~4~~~
#9 s Q4 4SW-1 -100 Mean: 4SXE-1 200 80 1 ||# 10 a7 4SE-2 -200 Mean: 4SE-2 200 40 3
v KQJ754 4SW4 620 -140  4SW-1 100 6.0 2 v JT53 2HN2 -110 50  3SE-2 200 40 1
¢ KT4 Dif: -720 NS:-10 3HN-1 50 3.0 1 + AJ532 Dif: -90 NS:2 3SE-1 100 20 1
& A9 IMP: -12 EW:-6 5HXN-1 100 1.0 1 & JT9 IMP: -3 EW:-4 2HN2 110 20 1
& J8732 & KT96 A 00 2 ||a AT3 # K9652 A 00 2
v A963 v38 2SW3 140 00 1 ||e Q7 + M v4 3HS-1 100 40 1
+6 + AJ93 3SW4 470 1.0 1 [|e Q98 + K64 1SE1 80 40 1
a J53 » KQ82 2sw4 470 1.0 1 ||& A7652 » KQ4 2SE3 140 5.0 1
POV ABN LA 4SW4 620 -100 2 d VAN 4, Q4 1SE3 -140 5.0 1
N ~11~~ @T2 N ~13~~ « AK986
S ~11~~ 4Q8752 S ~13~~ ¢T7
E 2~~4~ &T764 E 3~~21 83
2~~4-~ W 3~~21




Ll q I3 s\ 4 —_
7 102EE2RABERE 2B E ==> RT 7
L T
AYA
#1: 3 BFA(93.63) #2: 6 KT 443(82.21) #3: 10 Z=1E(80.5)
9 INS: BEAER & aEEIc) 1 4 NS: R{_5 #1I#¥(BA0) -7 VP:| 14.00 : 6.00 | Total VP: 80.35 Rank:
EW: Béa T STEW(EE0) 7 EW: 41T BREA(EAC) -1 IMP:| 28 16 4
_
#1 » 852 3NW3 400 Mean: 6CW-2 100 9.0 1 [[# 2 » KQ53 3HXS-2 500 Mean: 4SXW-2 300 11.0 1
v KJ93 3NW3 400 -280 6CE-2 100 9.0 1 v 52 3HS-2200 -240  3HS-1 100 40 1
¢ QT842 Dif: 0 NS:-3 4CE4 130 40 1 ¢ T62 Dif: 300 NS:1  3HS-2 200 1.0 5
a7 IMP: 0 EW:3 A 00 2 a 7642 IMP: 7 EW:6 A 00 2
o AT 94 3NW3 400 3.0 4 ||a 84 » AJO762 4HS-3 300 20 1
v A75 v Q84 3NE3 400 3.0 2 ||e AQJ | v7 3HXS-2  -500 -6.0 1
+ J96 ¢ AK3 4SXS-3  -500 -6.0 1 [|e J94 + Q853 4HXS-3  -800 -11.0 1
& KQ854 & AJT96 & KQJT8 & 53
%o VAN 4, KQJ763 B OVAN AT
N ~~~~~ v T62 N ~~ 1~ ~ o KT98643
S ~~~~~ ¢ 75 S ~~1~~ ¢ AK7
E 4~~~3 832 E 33~33 aA9
4 ~~~3 W 33~33
# 3 aJT2 2NW-1-100 Mean: 2SE-1 100 50 1 |[|# 4 » 65 4SE-1-100 Mean: 5SE-1 100 110 1
v KT43 1DW-1-100 -90  2NW-1 100 50 1 v 976 4SE4 620 -400  4SW-1 100 110 1
¢ T93 Dif: 0 NS:5 1DW-1 100 50 1 *T7 Dif: -720 NS:-6 4SE-1 100 110 1
& 543 IMP: 0 EW:-5 1DW1 -70 1.0 1 » AQT653 IMP: 12 EW:-11 A 00 2
s Q5 # A9864 A 00 2 ||aAJT2 # K983 5DW5 600 -5.0 1
v AJ75 v Q62 3Cs-2 4100 00 1 ||eK + v J53 4SE5 650 -6.0 2
+ AJ854 ¢ 62 2DW2 9 00 1 ||e KQJ5 * A9432 4SE4 620 -60 4
AT & 876 1DW2 -90 00 1 ||& KJ97 a8
f eV AN 4K/3 2SE2 410 1.0 1 FOVAN A Q74
N 1~~~~ 998 2sw3 140 20 1IN ~~~~~ v AQT842
S 1~~~~ oKQ7 2SXE2 670 110 1]||S ~~~~~ ¢ 86
E ~2221 &KQJ92 E ~5~5~ a42
~2221 W ~5~5~
#5 » AK 2SW-1-50 Mean: 2DN2 20 30 1(|#6 » Q542 7SXS-8 2000 Mean: 6HW7 1460 7.0 4
¢T3 2DN-1100 -10  1NN1 20 30 2 v T76 6NE7 1470 -1730 6NE7 1470 6.0 2
+ KQ8753 Dif: -150 NS:-3 2SW-1 50 20 2 ¢ JT64 Dif: 530 NS:6 A 00 2
& QT2 IMP: -4 EW:2 A 00 2 a T4 IMP: 11 EW:7 7SXS-8  -2000 -7.0 1
A T765 s QU4 2sW2 410 3.0 2 ||a7 & AK 7CE7 2140 9.0 1
v AQ2 v 8765 2DN-1 100 -3.0 2 ||e AKJ93 —_— v Q54 THW? 2210 100 1
¢ AT6 ¢ J9 1NN-1 4100 -3.0 1 ||e K8 ¢ AQ532 THE7 2210 100 1
& 876 & AK53 & KJ853 & A76
oo VAN 49832 P o VAN 4, JT9863
N ~1~~~ 9KJ9 N ~~~~~ v 82
S ~1~~~ 442 S ~~~~~ * 97
E 2~121 &J9 E 767 ~7 &Q92
2~121 W 767~7
#7 » 7643 3NW5 660 Mean: 4HW4 620 1.0 1||# 8 a 975 3SS-3150 Mean: 3NE-2 100 40 1
v Q98 3NW4 630 -640 3NW3 600 1.0 1 v K976 2SS-150 -40  INW-2 100 40 1
+ Q9532 Dif: 30 Ns:-0 A 00 2 ¢ 97 Dif: 100 NS:-0 1NN1 0 40 1
aK IMP: 1 EW:1  3NwW4 630 0.0 3 » KQJ5 IMP: 3 EW:3 A 00 2
» AQ8 » KJ72 3NW5 660 1.0 4 ||a AT64 » 82 25S-1 50 00 1
v J2 + v AT654 W6 600 20 1 ||e AQU42 v5 THW1 80 0 1
¢ KT ¢ A ¢ Q ¢ KT8532 3DE3 10 20 2
& JT976 S & A42 & A2 & T984 2DE3 110 2.0 1
FeVAN 495 % ¢V AN 4 KQJ3 1HW2 10 20 1
N ~~~~~ v K73 N ~~1~1 ¢T83 35S-3 150 3.0 1
S ~~~~~ + 8764 S ~~1~1 ¢A64
E 5~455 &Q853 E ~4~~~ a763
5~455 W ~4~~-~
#9 s Q4 2SW3 140 Mean: 4SXE-1 200 80 1 ||# 10 a7 2SE3 140 Mean: 4SE-2 200 40 3
v KQJ754 4SW-1-100 -140  4SW-1 100 6.0 2 v JT53 1SE3 140 50  3SE-2 200 40 1
¢ KT4 Dif: 240 NS:6  3HN-1 50 3.0 1 ¢ AJ532 Dif: 0 NS:-5 3SE-1 100 20 1
& A9 IMP: 6 EW:-0 5HXN-1  -100 1.0 1 a JT9 IMP: 0 EW:5 2HN2 10 20 1
& J8732 & KT96 A 00 2 ||a AT3 # K9652 A 00 2
v A963 v38 2sw3 4140 00 1 ||e Q7 + M v42 3HS-1 100 40 1
6 + AJ93 3SW4 470 1.0 1 ||e Q98 + K64 1SE1 80 40 1
& J53 & KQ82 2sw4 470 1.0 1 ||a A7652 & KQ4 2SE3 140 5.0 1
POV ABN LA 4SW4 620 -100 2 d VAN 4, Q4 1SE3 -140 5.0 1
N ~11~~ @T2 N ~13~~ « AK986
S ~11~~ ¢Q8752 S ~13~~ oT7
E 2~~4~ aT764 E3~~21 a8
2~~4-~ W 3~~21




Ll q >3z s\ 4 J—
7 1102 F<Z 2RABERE>BF e == RT 7
L T
AYA
#1: 3 BFAR(93.63) #2: 6 K 4-45(82.21) #3: 10 ZZfR(Q0.5)
1 O INS: ERiE BRERTEEAC) -19 2 NS: 3218 MF(FHO) -44 | VP:| 16.78 : 3.22 | Total VP: 80.50 Rank:
EW: 2558 BEEi4(5E0) 44 EW: REE E1BA(FC)1 IMP:| 43 19 3
I
# 1 & 852 4SXS-3 500 Mean: 6CW-2 100 9.0 1 [[# 2 » KQ53 3HS-2200 Mean: 4SXW-2 300 11.0 1
v KJ93 3NE3 400 -280 6CE-2 100 9.0 1 v 52 4HXS-3 800 -240  3HS-1 100 4.0 1
¢ QT842 Dif: 100 NS:-3 4CE4 130 40 1 ¢ T62 Dif: -600 NS:-11 3HS-2 200 1.0 5
&7 IMP: 3 EW:6 A 00 2 a 7642 IMP: -12 EW:-1 A 00 2
s AT s 94 3NW3 400 3.0 4 ||a 84 #» AJ9762 4HS-3 300 20 1
v A75 v Q84 3NE3 400 3.0 2 [|e AQJ | w7 3HXS-2  -500 -6.0 1
* J96 ¢ AK3 4SXS-3 500 6.0 1 ||e J94 + Q853 4HXS-3  -800 -11.0 1
& KQ854 & AJT96 & KQJT8 & 53
%o VAN 4, KQJ763 B OVAN AT
N ~~~~~ v T62 N ~~ 1~ ~ o KT98643
S ~~~~~ ¢ 75 S ~~1~~ ¢ AK7
E 4~~~3 832 E 33~33 aA9
4 ~~~3 W 33~33
# 3 aJT2 2SXE2 670 Mean: 2SE-1 100 50 1 |[|# 4 # 65 4SE5 650 Mean: 5SE-1 100 110 1
v KT43 2SE2 110 -90  2NW-1 100 50 1 v 976 4SE4 620 -400  4SW-1 100 110 1
¢ T93 Dif: 560 NS:-1 1DW-1 100 50 1 * T7 Dif: 30 NS:-6 4SE-1 100 110 1
& 543 IMP: 11 EW:11 1DWA 70 1.0 1 » AQT653 IMP: 1 EW:6 A 00 2
s Q5 » A9864 A 00 2 ||aAJT2 # K983 5DW5 600 -50 1
v AJ75 v Q62 3CS-2 100 00 1 ||eK + v J53 4SE5 650 -6.0 2
¢ AJ854 ¢ 62 2DW2 90 00 1 |]|eKQJ5 ¢ A9432 4SE4 620 -6.0 4
AT & 876 1DW2 -90 00 1 ||& KJ97 a8
F VAN K73 2SE2 410 1.0 1 FeVAN o, Q74
N 1~~~~ 998 2SW3 140 20 1[N ~~~~~ v AQT842
S 1~~~~ oKQ7 2SXE2 670 110 1[|S ~~~~~ ¢ 86
E ~2221 &KQJ92 E ~5~5~ a42
~2221 W ~5~5~
#5 » AK 1NN-1 100 Mean: 2DN2 90 30 1(|#6 » Q542 7HW7 2210 Mean: 6HW7 1460 7.0 4
¢T3 2SW2 110 -10  1NN1 90 30 2 v T76 6NE7 1470 -1730 6NE7 1470 6.0 2
+ KQ8753 Dif: -10 NS:-3 2SwW-1 50 20 2 ¢ JTE4 Dif: 740 NS:6 A 00 2
& QT2 IMP: 0 EW:3 A 00 2 a T4 IMP: 12 EW:10 7SXS-8  -2000 -7.0 1
a T765 s QM 2SW2 410 3.0 2 (|a7 & AK 7CE7 2140 9.0 1
v AQ2 v 8765 2DN-1 100 -3.0 2 ||e AKJ93 —_— v Q54 THW7 2210 100 1
¢ AT6 ¢ J9 1NN-1 100 3.0 1 |]|e K8 + AQ532 THE7 2210 100 1
& 876 & AK53 & KJ853 & A76
oo VAN 49832 P o VAN 4, JT9863
N ~1~~~ ¢KJM N ~~~~~ v 82
S ~1~~~ 442 S ~~~~~ * 97
E 2~121 &J9 E 767 ~7 &Q92
2~121 W 767~7
#7 a T643 3NW5 660 Mean: 4HW4 620 10 1 |[|# 8 a 975 2DE3 110 Mean: 3NE-2 100 40 1
v Q98 3NW4 630 -640 3NW3 600 1.0 1 v K976 3NE-2-100 -40  1NW-2 100 40 1
¢ Q9532 Dif: 30 NS:-0 A 00 2 * 97 Dif: 210 NS:4 1NN1 90 40 1
&K IMP: 1 EW:1 3NW4 630 00 3 » KQJ5 IMP: 5 EW:2 A 00 2
» AQ8 s KJ72 3NW5 660 1.0 4 ||a AT64 # 82 2881 50 00 1
v J2 + v AT654 W6 600 20 1 ||e AQU42 v5 THW1 80 0 1
¢ KJT ¢ A *QJ ¢ KT8532 3DE3 10 20 2
& JT976 S & A42 & A2 & T984 2DE3 110 2.0 1
FOeVAN 495 * eV AN 4, KQ3 1HW2 410 20 1
N ~~~~ ~ v K73 N ~~1~1 ¢T83 35S-3 150  -3.0 1
S ~~~~~ + 8764 S ~~1~1 ¢ A64
E 5~455 Q853 E ~4~~~ a763
5~455 W ~4~~-~
#9 s Q4 4SW4 620 Mean: 4SXE-1 200 80 1 ||# 10 a7 4SE-2 -200 Mean: 4SE-2 200 40 3
v KQJ754 2SW4 170 -140  4SW-1 100 6.0 2 v JT53 1SE180 50  3SE-2 200 40 1
¢ KT4 Dif: 450 NS:-1  3HN-1 50 3.0 1 + AJ532 Dif: -280 NS:-4 3SE-1 100 20 1
& A9 IMP: 10 EW:10 5HXN-1 100 1.0 1 » JT9 IMP: -7 EW:-4 2HN2 110 20 1
& J8732 & KT96 A 00 2 ||a AT3 # K9652 A 00 2
v A963 v38 2SW3 4140 00 1 ||e Q7 + B v4 3HS-1 100 40 1
+6 + AJ93 3SW4 470 1.0 1 ||e Q98 + K64 1SE1 80 40 1
a J53 » KQ82 2sw4 470 1.0 1 ||& A7652 » KQ4 2SE3 140 5.0 1
POV ABN LA 4SW4 620 -100 2 d VAN 4, Q4 1SE3 -140 5.0 1
N ~11~~ @T2 N ~13~~ « AK986
S ~11~~ 4Q8752 S ~13~~ ¢T7
E 2~~4~ &T764 E 3~~21 83
2~~4-~ W 3~~21




Ll q >3z s\ ' N
7 102 E<Z 2RABEREL>BE ==> RT 7
L T
AYA
#1: 3 BFAR(93.63) #2: 6 K 4-45(82.21) #3: 10 ZZfR(Q0.5)
1 1 INS: (BHO0) 0 12 NS: (Eic)0 VP:| 0.00 0.00 Total VP: 0.00 Rank:
EW: (BC)0 EW: (F0)0 IMP:l 0 : O 11
_
#1 » 852 Mean: 6CW-2 100 90 1 |[|# 2 » KQ53 Mean: 4SXW-2 300 110 1
v KJ93 280  6CE-2 100 9.0 1 v 52 240  3HS-1 100 40 1
+ QT842 Dif: NS:0 4CE4 130 40 1 ¢ T62 Dif: NS:0 3HS-2 200 1.0 5
a7 IMP: EW:0 A 00 2 a 7642 IMP: EW:0 A 0.0 2
a AT s 94 3NW3 400 3.0 4 ||a 84 » AJO762 4HS-3 300 20 1
v A75 v Q84 3NE3 400 3.0 2 ||e AQJ | v7 3HXS-2 500 -6.0 1
+ J96 ¢ AK3 4sxs-3 500 60 1 ||e Jo4 ¢ Q853 4HXS-3  -800 -11.0 1
& KQ854 & AJT96 & KQJT8 & 53
%o VAN 4, KQJ763 B OVAN AT
N ~~~~~ v T62 N ~~ 1~ ~ o KT98643
S ~~~~~ *75 S ~~1~n~ ¢AK7
E 4~~~3 a32 E 33~33 aA9
4~~~3 W 33~33
#3 aJT2 Mean: 2SE-1 100 50 1||# 4 » 65 Mean: 5SE-1 100 110 1
v KT43 90 2NW-1 100 50 1 v 976 400  4SW-1 100 110 1
¢ T93 Dif: NS:0 1DW-1 100 50 1 *T7 Dif: NS:0 4SE-1 100 110 1
& 543 IMP: EW:0 1DW1 -70 1.0 1 » AQT653 IMP: EW:0 A 00 2
s Q5 # A9864 A 00 2 ||aAJT2 # K983 5DW5 600 -50 1
v AJ75 v Q62 3Cs-2 100 00 1]||eK + v J53 4SE5 650 -6.0 2
+ AJ854 ¢ 62 2DW2 9 00 1 ||e KQJ5 * A9432 4SE4 620 -6.0 4
AT & 876 1DW2 -90 00 1 & KJ97 &8
f eV AN 4K/3 2SE2 410 1.0 1 P eVAON o Q74
N 1~~~~ 998 2sW3 140 20 1IN ~~~~~ v AQT842
S 1~~~~ ¢KQ7 2SXE2 670 110 1]||S ~~~~~ ¢ 86
E ~2221 &KQJ92 E ~5~5~ a42
~2221 W ~5~5~
#5 » AK Mean: 2DN2 90 30 1||#6 » Q542 Mean: 6HW7 1460 7.0 4
¢T3 -0 1NN1 90 30 2 v T76 1730 6NE7 1470 6.0 2
+ KQ8753 Dif: NS:0 2Sw-1 50 20 2 ¢ JTE4 Dif: NS:0 A 00 2
& QT2 IMP: EW:0 A 00 2 a T4 IMP: EW:0 7SXS-8  -2000 -7.0 1
A T765 s QU4 2SW2 10 3.0 2 ||a7 & AK 7CE7 2140 9.0 1
v AQ2 v 8765 2DN-1 400 -3.0 2 ||e AKJO3 —_— v Q54 THW? 2210 -10.0 1
¢ AT6 ¢ J9 1NN-1 4100 -3.0 1 ||e K8 ¢ AQ532 THE7 2210 -10.0 1
& 876 & AK53 & KJ853 & A76
oo VAN 49832 ¢ VAN 4 JT9863
N ~1~~~ ¢KJM N ~~~~~ v 82
S ~1~~~ 442 S ~~~~~ * 97
E 2~121 aJo4 E 767~7 &Q92
2~121 W 767~7
#7 » 7643 Mean: 4HW4 620 1.0 1 ||# 8 a 975 Mean: 3NE-2 100 40 1
v Q98 640  3NW3 600 1.0 1 v K976 440 1NW-2 100 40 1
¢ Q9532 Dif: NsS:0 A 00 2 ¢ 97 Dif: NS:0 1NN1 90 40 1
aK IMP: EW:0 3Nw4 630 00 3 » KQJ5 IMP: EW:0 A 0.0 2
» AQS » KJ72 3NW5 660 -1.0 4 ||a AT64 » 82 25S-1 50 00 1
v J2 + v AT654 W6 600 20 1 ||e AQU42 v5 THW1 80 0 1
¢ KT ¢ A *QJ ¢ KT8532 3DE3 410 20 2
& JT976 S & A42 & A2 & T984 2DE3 110 2.0 1
FeVAN 495 % ¢ VAN o KQJ3 1HW2 410 20 1
N ~~~~~ v K73 N ~~1~1 ¢T83 3s8-3 450 3.0 1
S ~~~~~ + 8764 S ~~1~1 ¢A64
E 5~455 #Q853 E ~4~~~ a763
5~455 W ~4~~~
#9 a Q4 Mean: 4SXE-1 200 80 1 |[|# 10 a7 Mean: 4SE-2 200 40 3
v KQJ754 140 4SW-1 100 60 2 v JT53 50  3SE-2 200 40 1
* KT4 Dif: NS:0 3HN-1 50 30 1 ¢ AJ532 Dif: NS:0 3SE-1 100 20 1
& A9 IMP: EW:0 5HXN-1  -100 1.0 1 a JT9 IMP: EW:0 2HN2 10 20 1
& J8732 & KT96 A 00 2 ||a AT3 # K9652 A 00 2
v A963 v38 2sw3 4140 00 1 ||e Q7 + M v42 3HS-1 100 -40 1
6 + AJ93 3SW4 470 1.0 1 ||e Q98 + K64 1SE1 80 4.0 1
& J53 » KQ82 25W4 470 1.0 1 ||a A7652 & KQ4 2SE3 140 5.0 1
* VAN A5 4SW4 620 -100 2 d VAN 4, Q4 1SE3 -140 5.0 1
N ~11~~ @T2 N ~13~~ « AK986
S ~11~~ ¢Q8752 S ~13~~ oT7
E 2~~4~ &T764 E 3~~21 483
2~~4~ W 3~~21




Ll 5 >3z s\ ' N
7 10EEE2RABERE LB 2 ==> RT 7
L T
AYA
#1: 3 BFAR(93.63) #2: 6 K 4-45(82.21) #3: 10 ZZfR(Q0.5)
1 2 INS: (BHC) 0 11 NS: (F80)0 VP:| 0.00 0.00 Total VP: 0.00 Rank:
EW: (30) 0 EW: (BC)0 IMP:]| 0 : 0 1
_
#1 » 852 A Mean: 6CW-2 100 90 1 |[|# 2 » KQ53 A Mean: 4SXW-2 300 11.0 1
v KJ93 A 280 6CE-2 100 9.0 1 v 52 A 240 3HS-1 100 40 1
¢ QT842 Dif: 0 NS:-0 4CE4 130 40 1 ¢ T62 Dif: 0 NS:-0 3HS-2 200 1.0 5
a7 IMP: 0 EW:-0 A 00 2 » 7642 IMP: 0 EW:-0 A 0.0 2
a AT » 94 3NW3 400 3.0 4 ||a 84 » AJ9762 4HS-3 300 20 1
v A75 v Q84 3NE3 400 3.0 2 ||e AQJ | v7 3HXS-2 500 -6.0 1
* J96 ¢ AK3 4sxs-3 500 60 1 ||e Jo4 + Q853 4HXS-3  -800 -11.0 1
& KQ854 & AJT96 & KQJT8 & 53
%o VAN 4, KQJ763 B OVAN AT
N ~~~~~ v T62 N ~~ 1~ ~ o KT98643
S ~~~~~ ¢ 75 S ~~1~~ ¢ AK7
E 4~~~3 832 E 33~33 aA9
4 ~~~3 W 33~33
#3 »JT2 A Mean: 2SE- 100 50 1||# 4 » 65 A Mean: 5SE- 100 110 1
v KT43 A -90  2NW-1 100 50 1 v 976 A -400 4SW-1 100 110 1
¢ T93 Dif: 0 NS:-0 1DW-1 100 50 1 o T7 Dif: 0 NS:-0 4SE-1 100 110 1
& 543 IMP: 0 EW:-0 1DW1 70 10 1 » AQT653 IMP: 0 EW:-0 A 0.0 2
s Q5 » A9864 A 00 2 ||aAJT2 » K983 5DW5 600 -50 1
v AJ75 v Q62 3Cs-2 400 00 1 ||eK + v J53 4SE5 650 -6.0 2
* AJB54 * 62 2DW2 9 00 1 |[|eKQJs o A9432 4SE4 620 -6.0 4
AT & 876 1DW2 -90 00 1 & KJ97 &8
f eV AN 4K/3 2SE2 410 1.0 1 P eVAON o Q74
N 1~~~~ 998 2sW3 140 20 1[N ~~~~~ v AQT842
S 1~~~~ ¢KQ7 2SXE2 670 -11.0 1||S ~~~~~ ¢ 86
E ~2221 &KQJ92 E ~5~5~ a42
~2221 W ~5~5~
#5 » AK A Mean: 2DN2 90 30 1||#6 » Q542 A Mean: 6HW? 1460 7.0 4
¢T3 A <10 1NN1 90 30 2 v T76 A 1730 6NE7 1470 6.0 2
+ KQ8753 Dif: 0 NS:-0 2Sw-1 50 20 2 ¢ JT64 Dif: 0 NS:-0 A 00 2
QT2 IMP: 0 EW:-0 A 00 2 aT4 IMP: 0 EW:-0 7SXS-8  -2000 -7.0 1
a T765 s QJ4 2SW2 410 30 2 ||a7 a AK 7CE7 2140 9.0 1
v AQ2 v 8765 2DN-1 400 -3.0 2 ||e AKJO3 —_ v Q54 THW7 2210 -10.0 1
* AT6 ¢ J9 1NN-1 100 3.0 1 [|eKs ¢ AQ532 THE? 2210 -10.0 1
& 876 & AK53 & KJ853 & A76
oo VAN 49832 ¢ VAN 4 JT9863
N ~1~~~ ¢KJM N ~~~~~ v 82
S ~1~~~ 442 S ~~~~~ * 97
E 2~121 aJo4 E 767~7 &Q92
2~121 W 767~7
#7 4 T643 A Mean: 4HW4 620 1.0 1 ||# 8 a 975 A Mean: 3NE-2 100 40 1
v Q98 A 640 3NW3 600 1.0 1 v K976 A -40  1NW-2 100 40 1
+ Q9532 Dif: 0 NS:-0 A 00 2 ¢ 97 Dif: 0 NS:-0 1NN1 90 40 1
2 K IMP: 0 EW:-0 3NW4 630 00 3 » KQJ5 IMP: 0 EW:-0 A 0.0 2
» AQS » KJ72 3NW5 660 -1.0 4 ||a AT64 » 82 28S-1 50 00 1
v J2 + v AT654 W6 600 20 1 ||e AQU42 v5 THW1 80 0 1
* KJT ¢ A *QJ ¢ KT8532 3DE3 410 20 2
& JT976 S & A42 & A2 & T984 2DE3 110 2.0 1
FeVAN 495 % ¢ VAN o KQJ3 1HW2 410 20 1
N ~~~~~ v K73 N ~~1~1 ¢T83 3s8-3 450 3.0 1
S ~~~~~ + 8764 S ~~1~1 ¢A64
E 5~455 #Q853 E ~4~~~ a763
5~455 W ~4~~~
#9 a Q4 A Mean: 4SXE-1 200 80 1 |[|# 10 a7 A Mean: 4SE-2 200 40 3
v KQJ754 A 140  4SW-1 100 60 2 v JT53 A 50 3SE-2 200 40 1
* KT4 Dif: 0 NS:-0 3HN-1 50 30 1 ¢ AJ532 Dif: 0 NS:-0 3SE-1 100 20 1
& A9 IMP: 0 EW:-0 5HXN-1  -100 1.0 1 a JT9 IMP: 0 EW:-0 2HN2 10 20 1
& J8732 & KT96 A 00 2 ||a AT3 # K9652 A 00 2
v A963 v38 2sW3 4140 00 1 ||e Q7 + M v42 3HS-1 100 -40 1
6 * AJ93 3SW4 470 1.0 1 ||e Q98 * K64 1SE1 80 4.0 1
» J53 » KQ82 25W4 470 1.0 1 ||a& A7652 » KQ4 2SE3 140 5.0 1
* VAN A5 4SW4 620 -100 2 d VAN 4, Q4 1SE3 -140 5.0 1
N ~11~~ @T2 N ~13~~ « AK986
S ~11~~ ¢Q8752 S ~13~~ oT7
E 2~~4~ &T764 E 3~~21 483
2~~4~ W 3~~21




